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U.G. DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations 

Mathematics 

Allied : OPTIMIZATION TECHNIQUES 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all the questions. 

1. Define : L.P.P.  

 Áøμ¯Ö :  L.P.P. 

2. Write the origin of O.R 

 O.R –ß ÷uõØÓzøu GÊxP. 

3. Define : Slack Variable.  

 Áøμ¯Ö : £ØÓõUSøÓ ©õÔ. 

4. State the use of simplex method. 

 ]®¨ÍUì �øÓ°ß £¯øÚU TÖP. 

5. Define : initial basic feasible solution. 

 Áøμ¯Ö : Bμ®£ Ai¨£øh ö\´uUP wºÄ. 

6. What is a T.P.? 

 T.P.  GßÓõÀ GßÚ? 
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7. Define : Assignment problem. 

 Áøμ¯Ö : KxURmkU PnUS 

8. Define : Balanced A.P. 

 Áøμ¯Ö : \©{ø» A.P. 

9. What is sequencing problem? 

 Á›ø\ ©õØÖUPnUS GßÓõÀ GßÚ? 

10. Define : Idle time. 

 Áøμ¯Ö : ÷Áø»¯ØÓ ÷|μ®. 

 Part B  (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain Mathematical formulation of LPP with an 

example. 

  LPP–°ß Pou ÁiÁø©¨¦ �øÓø¯ J¸ 

GkzxUPõmkhß ÂÍUSP. 

Or 

 (b) Explain Graphical Method. 

  Áøμ£h �øÓø¯ ÂÍUSP. 

12. (a) Explain simplex algorithm. 

  ]®¨ÍUì £iÁÈ �øÓø¯ ÂÁ›. 

Or 

 (b) Solve by simplex method  

  ]®¨ÍUì �øÓ°À wºUP. 

  Max /«¨ö£›¯uõUSP 21 32 xxZ   

  S.t/Pmk¨£õkPÒ 

  

0,

93

62

42

21

21

21

21









xx

xx

xx

xx
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13. (a) Explain Least cost method. 

  «a]Ö ö\»Ä �øÓø¯ ÂÍUSP. 

Or 

 (b) Find initial basic feasible solution by Vogel’s 

approximation method.  

 D1 D2 D3 D4 Supply

O1 1 2 1 4 30 

O2 3 3 2 1 50 

O3 4 2 5 9 20 

Demand 20 40 30 10  

  ÷ÁõP¼ß ÷uõμõ¯ �øÓ°À Bμ®£ Ai¨£øh 
ö\´uUP wºÄ PõsP. 

 D1 D2 D3 D4 ÁÇ[PÀ

O1 1 2 1 4 30 

O2 3 3 2 1 50 

O3 4 2 5 9 20 

÷uøÁ 20 40 30 10  

14. (a) Solve the A.P.  

  A.P. I wºUP. 

 1 2 3 4 5 

A 16 13 17 19 20

B 14 12 13 16 17

C 14 11 12 17 18

D 5 5 8 8 11

E 5 3 8 8 10

Or 
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 (b) Explain Assignment algorithm. 

  JxURmk £iÁÈ �øÓø¯ ÂÁ›. 

15. (a) Explain :  

  (i) Total elapsed time 

  (ii) Idle time 

  ÂÁ›  

  (i) ö©õzuU Põ» ÷|μ®  

  (ii) ÷Áø»¯ØÓ ÷|μ® 

Or 

 (b) Solve the sequencing problem.  

  

 Job 

 1 2 3 4 5

A 5 7 6 9 5

B 2 1 4 5 3

 

Machine

C 3 7 5 6 7

  Á›ø\ ©õØÖU PnUøPz wºUP.  

 

 ÷Áø»PÒ 

 1 2 3 4 5

A 5 7 6 9 5

B 2 1 4 5 3

ö©æß 

C 3 7 5 6 7
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Solve Graphically :  

Áøμ£h �øÓ°À wºUP.  

 Min /«a]Ô¯uõUSP 21 23 xxz   

 S.t/Pmk¨£õkPÒ  

 

0,

124

6

105

21

21

21

21









xx

xx

xx

xx

 

17. Solve by Simplex method: 

]®¨ÍUì �øÓ°À wºUP. 

 Max /«¨ö£›¯uõUSP 321 54 xxxz   

 2233 21  xx  

 S.t/Pmk¨£õkPÒ  

 

0,,

1423

1432

321

21

321




 

xxx

xx

xxx

 

18. Solve the following T.P.  

 S1 S2 S3 S4 Supply 

A 5 2 4 3 22 

B 4 8 1 6 15 

C 4 6 7 5 8 

Demand 7 12 7 19  
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 RÌÁ¸® T.P. I wºUP. 

 S1 S2 S3 S4 ÁÇ[PÀ

A 5 2 4 3 22 

B 4 8 1 6 15 

C 4 6 7 5 8 

÷uøÁ 7 12 7 19  

19. Find the optimal solution of the following A.P.  

 RÌÁ¸® A.P–ß Ezu©z wºÄ PõsP. 

 1 2 3 4 5 

A 11 17 8 16 20

B 9 7 12 6 15

C 13 16 15 12 16

D 21 24 17 28 26

E 14 10 12 11 15

20. Solve the following sequencing problem. 

 Job 

 A B C D 

M1 15 12 16 17 

M2 5 2 3 3 

 

 

Machine 

M3 4 10 5 4 

 M4 15 12 16 17 

 RÌÁ¸® Á›ø\ ©õØÖU PnUøPz wºUP. 

 ÷Áø»PÒ 

 A B C D 

M1 15 12 16 17 

M2 5 2 3 3 

 

ö©æßPÒ 

M3 4 10 5 4 

 M4 15 12 16 17 

———————— 


